
1-
2-
3-
4-
5-
6-
7-
8-

www.canotomot�v.com.tr / turtlecancarry.com / canauto.store / canauto.ru
Vel�köy OSB 4. Cadde No: 20/A Çerkezköy/TEKIRDAĞ
CAN OTOMOTİV İNŞ. İTH. İHR. SAN. VE TİC. LTD. ŞTİ.

+90 282 746 1320 �nfo@canotomot�v.com.tr

ASSEMBLY INSTRUCTIONS ( COMPATIBLE VEHICLES PACKAGE INCLUDED

FIRST TIME INSTALLATION
* REMOVE PARTS FROM INSIDE THE PACKAGE AND CHECK THEM ALL

* CONTACT YOUR DEALER IF ANY PART IS MISSING OR DAMAGED
* USE THE EQUIPMENT SPECIFIED FOR INSTALLATION

Z
IP

LO
C

K
 B

A
G

Whatever product type you w�ll use, Example of s�de step types;
Type A (Alyans, Sapph�re, Emerald)

Type B (Br�llant, Another, Pearl, R�ng, Plus) / Type E (Era)
Assemble the parts through the match�ng f�x�ng holes.

Kullanacağınız ürün t�p� hang�s� �se, Parçaları ona uyumlu olan bağlantı del�kler�nden b�rleşt�r�n�z.

CN

USE OF CN-... PARTS

2
3

M
B

01
02

8/
M

B
02

02
8 

/ 
R

ev
.0

0 
/ 

21
.1

2.
20

22
 (E

C
E)

BRACKET KIT)
Product Code: MB01028 (A-TYPE) FI FRMNT 11-

DOD JRNY 09-

1111

1114

CN-01 M8
M8 SPECIAL BOLT
CLAMPING PIECE
D8 WASHER
M8 HEX NUT
M8x20 LOCK HEADED BOLT

1117

M8x30 LOCK HEADED BOLT

4
4
4
12
16
4
8
8BRACKET FASTENER

1118

Product Code: MB02028 (B-TYPE)

FRONTREAR

..028-1R

..028-1L..028-2R

..028-2L

..028-3

..028-3

..028-3
..028-3

1116

1115


